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Rovnice s faktorialem (3)

1. Rovnice s faktoridlem
1) Reste rovnici:
(x+6)!
+x° —16x =28
(x+4)!
Sb-MM, Sb-rce: 2x* —5x+2=0= x, # 1, x, = 2...5tr.85/1.4-b)
2) Reste rovnici:

(XJr?’)!er2 =14

-
(x+2)!
Sb-MM: 2x” +3x-14=0=x, # -1, x, =2...5tr.85/1.4-)

3) Redte rovnici:
(x+5)!
(x+3)!
VSE: 2% =5x+3=0=x, %2, x, =1
4) Reste rE)Vni(;i)I'
X+ !
=) o

VH: 5x° —4x-1=0=x, #-1,x, =1

-5

~14x+x" =17

+6x> +x=1

5) Redte rovnici:
2-(x-1)!
(x-3)! -
VSE: 2x° - 7x-4=0=>x, #—1,x =4
6) Reste rovnici:
(X73)!+x2 -8x=-6
(x-5)
VH: 2x* -15x+18=0=x, #3,x, =6
7) Reste rovnici:
(x+1)!
(x—1)!
VH: 5x* —19x+12=0=x, =3,x, #4/5
8) Reste rovnici:
(x+2)! IO
x! (x—-2)!
VSE: x’ -5x+4=0=>x,#1,x, =4
9) Reste rO\(/nicié )'
x—2)!
(2x+3)(x_3)!

VSE: 2x* —15x+25=0=x, #3,x, =5

X

x=38

—-24x=-12

—14x =-31

10) Reste rovnici:
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2)

3)

4)

5)

6)

7

8)

9

3 (x—1)!
(x-3)!

VSE: 3x° -31x+70=0=>x, # 2, x, =7

307

-22x =-64

Rovnice s kombinacnimi ¢isly
Reste rovnici:

x-1 x-2
+ =9
x-3 x—4
Sb-MM, Sb-rce, SMP: x* —4x—5=0=> x, # -1, x, = 5...5tr.85/2.4-d)
Reste rovnici:

x=1 x=2
+ =4
x=2 x—4
Sb-rce, SMP, VSE: x* =3x-4=0= x, # -1, x, = 4...5tr.61/5.12-3)
Reste rovnici:

x-2 x-3
+ =16
x—4 x-5
Sb-rce, SPS: x> —6x-7=0=x, # -1, x, = 7...str.61/5.12-5)
Reste rovnici:

x+3 x—1
2- + =3x+15
x+1 x-2

VH: x* +3x-10=0=x, =2,x, # -5
Reste rovnici:

X x—1
+ =4
Sb-MM: 2x* —4x - 6=0=>x, =3, x, #—1...5tr.85/2.4-b)
Reste rovnici:

X x-2
+ =8
1 2
VH:x* =3x-10=0=x, =5,x, #-2
Reste rovnici:

x—-2 x+4
+ =8x+3
2 x+2
VH: x> -7x+6=0=x,=6,x, #1
Reste rovnici:

X x+3
+ =4
2 2
Sb-MM: x* +2x-1=0= D =8= NR...str.85/2.4-c)
Reste rovnici:

)
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Sb-ree: X’ +x-2=0=x, 21, x, #-2...5tr.61/5.12-2)
10) Reste rovnici:
x=2
=3
2
Sb-rce: x* —5x=0=>x, #0, x, =5...5tr.61/5.12-1)
11) Reste rovnici:

C:ijfz-[x;zj;(zxwo)

VH: —x* +25=0=x, =5,x, #-5
11) Reste rovnici:

x x X2 +1
+ =
x—-2 x—1 2

SMP: x #1,= NR

3. Rovnice s vytykanim
1) Reste rovnici:
(x—5)!+(x—3)!:3
(x—4)
VH: x* —10x+25=0=x, =5
2) Reste rovnici:
(x—2)1+x!
(x-1)r ~
VH: x* —4x+4=0=x,, =2
3) Redte rovnici:
(x74)!+(x72)!73
(x-3)!
Sb-rce: x* —8x+16=0=>x,, =4...str.59/5.5-3)
4) Reste rovnici:
(x—3)!+(x—1)!:3
(x—2)!
Sb-ree:x® —6x+9=0=x,, =3 ...s5tr.59/5.5-2)

4. Ruzné
1) Reste rovnici:
log(x +6)! —log(x +5)! = 2logx
Sb-rce: ¥ —x—6=0= x, # -2, x, =3...5.59/5.5-6)
2) Reste rovnici:
log(x+1)!—logx!=1
§b—rce: 9...str.59/5.5-7)
3) Reste rovnici:
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4)

5)

log x! —log(x —2)! +log5 =1

Sbree: ¥ —x—2=0=x, # —1, x, =2...5.59/5.5-8)
Reste rovnici:

2log(x —2) = log(x —2)! - log(x —3)!

VH: x* -5x+6=0=x,#2,x, =3

Reste rovnici:

log(x —3)! —log(x —5)! —log(x-3)=0

VH: x=5



